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Time : Three Hours )

Ae:

1.

B. Com. (Part I) EXAMINATION, 2019
(Group—I : Accounting)
Paper Second
COST ACCOUNTING

[ Maximum Marks : 75
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

. FIE—1

(UNIT—1)

e & fU arTd S@ied B F Agd ¢ 7 arma od R
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What is the significance of Cost Accounting to
Management 7 In what respect does cost accounting differ
from financial accounting ?

941
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Calculate the Economic Order Quantity from the
following information :

Consumption of material per annum 20000 kg
Order cost per order T50
Cost per kg of raw material T4

Sto .
rage cost 8% on inventory

@ X 3 wr % _
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The following information is ew from the storeg
ledger of material X :

Opening Stock N

T___————_.________
January 1, 2018 Purchase | 100 units @ 7 ”
.____—-—-_._________‘
January 20, 2018 | Purchase | 100 units @ 2 3 per ot

= _____'_'_‘-'—n—_.._
January 22, 2018 | Issues 60 units for Job N, 16

Tssues | 60 units for Job No. 17

M, 2-0 1 3 —_—
(A-59)
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, Compute the receipts and issues valuation by adopting
the Lastin-first-out and the Weighted Average
method. Tabulate the values allocated to Job No. 16

and Job No. 17 and the closing stock under the

methods aforesaid.
2
(UNIT—2)
2 A 3 AR 3 B THIER T TR GEi ¥ A
7 o & ? 590 AW U4 g B W |
What do you mean by piece rate the time rate system of
remunerating the labour ? Discuss their advantages and
disadvantages. hitp://www.prsunotes.com
Fa
(or) _
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The following information related to the activities of the

production department of a factory for a certain period :
J

Materials used ¥ 36,000
Direct Wages ¥ 30,000
Labour Hours Worked 24000 hrs
Hours of Machine Operation 20000 hrs
Overhead Chargeable to the Dept. T 25,000

On one order carried out in the department during the period
the relevant data was :

Material used T 2,000
Direct wages 21,650
Labour hours 1650 hrs
Machine hours 1200 hrs

Calculate by three different methods (Direct Wages method,
Labour hour method and Machine hour method) the
overhead chargeable to the job.

(A-89)
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—3

(UNIT-3)

c-2019

T wen @F yeR @ @t @ Py wwd t-2few @A,
Hifer &7 aur w9 GFR | 3T A fefofe ¢

feeda | demda | w1 R
) ) ()

i 20 25 125
Ll 40 60 120
TG SURE™ 30,000
T JuRE 10,000
frg 7 famwor
iy 15,000

FA A T P, I SR @ e F1 e

TER & :

e ¢ 2 R ¢ P TR T @ T FER 9
Mae B9 & WX ¥ IEIEA §9 WOR ¢ 0 A $A 250,

e B 125 T FH HeR 1251

A concern manufactures three types of Fans—Table Fans,
Ceiling Fans and Room Coolers. Thejr costs are as under :

Table | CeilingFan| Room
Fan (%) (9} Cooler (%)
Materials 20 25 125
Lal 40 60 120
Factory Overheads 30,000
Office Overheads 10,000
Selling and
Distribution 15,000
(A-89)
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Find out total cost if overheads are allocated on the basiy

of—one Ceiling Fan is equivalent to two Table Fans ang o,

Room Cooler is equivalent to five Table Fans. Productio,
was : Table Fans 250; Ceiling Fans 125 and Roop

Coolers 125.

ua

(Or)
it feiR Tve TR ¥ 1 S, 2018 B U@ OB IEH W
F1d get | 3 o ER e o 31 Ry @ a7
# a1 Rew, 218 @ Pl @t o0 ad J
IveE §

4
arrft s W A6l 50,000
TR T ¥ 12,000
wagy 1,00,000

& Wi Rrea P 2 32,000 ¥, FEdee w® o af @ e
warr g€ #) e Weie 5 @ I oo o gE
YUY AT ¥ 2,000 JTAT B T | YoRameR A @
e W 39 3% W fun) s%9 fo o 7 2,000 vRve R
T o 7 =T T 15,000 F & FRRYT W WRIA T 9,000
Bt oty 3T T T 4,00,000 A 31 RER, 2018 A 33
2 umr rd qof &R R T O RS AR 3 2 2,00,000
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(7] c-20

Messrs Kishore & Company commen
18, They close their books

ced the work on 4

particular contract on 1st April, 20
of accounts for the year on 31st December each year. The
following information is available from their costing records
on 31st December, 2018 :

L4
Material Sent at site 50,000
Salary of Foreman 12,000
Wages paid 1,00,000

x 1
A Machine Costing ¥ 32,000 remained in use on site for ¢ of

the year. lts working life was estimated at 5 years and scrap
value at Z 2,000, A supervisor is paid ¥ 2,000 per month and
had devoted one-half of his time on the contract. All other
expenses were ¥ 15,000. The materials on site were was

¥ 9,000. The contract price was T 4,00,000. On 3lst
December, 2018, ; of the contract was completed however,

the architect gave certificate only ﬁ;r ¥ 2,00,000 on which
75% was paid. Prepare the Contract Account.

TR—
(UNIT—4)
4 TF SR W, ¥ ow & ufhnt ¥ o 2 el
o 1 A 64 T A s
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Frar IR (¥) 2,000 2,000 3,000
iy @ Rt oty 100

vt 5 5 20
gfar & 3 o Mg

40000 $FT% &1 &4 (T) | 20,000 — —
JareA (gl ) 39000 | 37600 | 32000
AW &Y 2% 5% 10%

2,000 |

YE RHA @1 IR Iel Wibdr W gwang & Ra
omr 31 wfsar @R dar difoe AR viEm § gg & dar @
T

A product passage through three processes A, B and C. The

normal wastage and other information of each process is as
under : http://www . prsunotes.com

[ A B C
Materials () 8,000 4,000 2,000
Labour () 12,000 8,000 6,000
Factory Overheads (%) 2,000 2,000 3,000
Sale of scrap per 100 uints 5 5 20
Value of 40000 units
introduced in process A (T) | 20,000 —_— —_

Output (In units) 39000 | 37600 | 32000

Normal Wastage 2% 5% 10%

N
: (A<8)
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The output of each process passes immediately to next
process. Prepare the Process Accounts and show the
treatment of wastage in the process.

JH4q]

(Or)
W@ T SR A AR @ dm o 50 e B Q@ W
o o vad &) R T A g 0 iR 2, W AT
T 25% TR T &1 T4 ¥ A @ @ fA g § o
Tie 7@ WARA 1 AU B 2| A, 2018 AR B fo
T 9 Twel & Pt @ e o e T E

?
IR T Beack B gy 4,800
Frfa ©% 3 ¥ 2,000
Baa, dtga A 6,000
R 3,600
& 7 WP W 4,000
- 4,400
a4 ol @d 4.000

frefRa T : @) IR T Rl §ma @) @ W ¥ R
e B T8 &1 Bua o am AT 31 50% §

A Transport Company operates 4 buses between two cities
which are 50 km. apart Capacity of each bus is 40
passengers but on an average the bus runs 25% empty. All
the buses run on all the days of the month, each bus making
a round trip each day. Following particulars of expenditure
are obtained from the books of company for the month of
April, 2018 :

(A-69)
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T

Wages of Drivers and Conductors 4,800
Salaries to Office Staff :.::DD
Diesel il ete. 3.6$
Repairs 4".”'%I

Insurance and Road Tax A
4,400

Depreciation

Other fixed charges 4,000

Find out : (a) The cost per passenger kilometre; (b) Bus fare

to be charged from one city to another adding 2 profit of

50% on cost.
PR—S
(UNIT—5)
5 & fq 7ed @ oG 9@ 39 YR 9 -
z
{I W 1,00,000
L] ~2,00,000

FNGMT IIRTY TE AT B 50% I fRY MY
mmﬁmmﬂrmMs%mﬁrMm
fewa 7 arma ¥ 20% R ar)

Reftr wral @ srgwr FvErT saar T 1,30,000 U7 BT
SIRET T 98,000 &

S
() WP ol & ITER @M T P
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(i) Toeha ol B aqar am T PR
(iii) EA Rew-va |
The cost books of M/s Mittal Bros. showed the following :

T
Materials 1,00,000
Labour 2,00,000

The factory overhead was estimated at 50% of the prime cost
and the office overhead at 25% on the works cost. The
selling price was 20% above cost.

As per financial books, the Factory overhead was
¥ 1,30,000 and office overhead was T 98,000.

From the above ;
(i) Find out Profit as per cost books.
(i) Find out Profit as per Financial Books.
(iii) Prepare Reconciliation Statement.
Fau
(Or)
™ A T 40,000, TRt A i W oe0%,
w-free R Ik #ikm
7 - R 9 P o
@) A € 10,000 ©§ 73 Wi &
(i) Radwia o A © 15% ahe @ w2
(i) R 170 20% @ om d
(v) "Redadher s et @ 10% we o ¢
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Fixed costs T 40,000, Variable cost 60% of Sales, Find out
Break-even point.
Find out new Break-even point when :
() Fixed costs increase by T 10,000.
(i) Variable costs are more by 15% on sales.
(iii) Selling price increase by 20%.

(iv) Variable costs decrease by 10% on sales.
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